Assignment No. 1

MTH 101 (Fall 2011)

Maximum Marks: 20
                                                Due Date: 26th Oct. 2011   

Question # 01:
                           Find equation of the line which is perpendicular to the line     
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 and has y-intercept = 6.

Solution: 
The slope intercept form of line is 
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where m is the slope of the line and c is the y – intercept.
To find the slope of line, we will use the relation between slopes of two perpendicular lines which is 
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We know that the perpendicular line is 
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which has the slope 
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Substituting this value in the above relation, it yields
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which is the slope of required line and  the y-intercept as given is 6.
Putting these values in equation (1), we get
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which is the equation of required line.



Question # 02:

Find the vertex, x and y intercepts of the parabola given by the equation
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Solution: 

The given equation of parabola is 
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To find the vertex 
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, we know that
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Comparing equation (1) with general equation of parabola 
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, we get
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Putting this value in equation (1) to get the 
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Thus, vertex of given parabola is 
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To find x-intercept, put y = 0 in equation (1), which implies
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Since, there does not exist any real root of the above equation, therefore, the parabola has no x- intercept.

To find the y – intercept, put x = 0 in equation (1), which implies
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Question # 03:
Find the centre and radius of the circle given by the equation
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Solution: 
                The given equation of circle is 
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It can be written as
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Now, we will use the method of completing square to bring the equation in the required form.
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Comparing it with general equation of circle, we get that the centre of circle is 
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 and the radius is 
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Question # 04:
    Given that 
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. Also describe the domain of composite function.  
Solution: 
Given that 
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 The composite function
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Now, to find the domain of composite function, we that
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